2012 Half-Yearly Examination

FORM V
MATHEMATICS EXTENSION 1

Wednesday 29th August 2012

General Instructions
¢ Writing time — 3 hous
s Write using black or blue pen.

» Board-approved calculators and tem-
plates may be used.

o A list of standard integrals is provided
at the end of the examination paper.

Total — 117 Marks

o All questions may be attempted.

Section I - 13 Marks

¢ Questions 1-13 are of equal value.

o Record your soluticns to the multiple
choice on the sheet provided.

Section II - 104 Marks

¢ Questions 14-21 are of equal value,

+ All necessary working should be shown,

o Start each question in a new booklet.

Collection .

» Write your name, ¢lass and master

" on each booklet and on your multiple

choice answer sheet.

Hand in the booklets in a single well-

ordered pile.

Hand in a booklet for each question

in Section H, even if it has not been

attempted.

» If you use a second booklet for a ques-
tion, place it inside the first.

Place your multiple choice answer
sheet inside the answer booklet for
Question Fourteen.

»

s Write your name and master on this
question paper and submit it with
YOUr answers.

5A: DS 8B: TCW 5C: REP
5D: DNW 5E: LYL 5F: MES
BG: 80 5H: BR _BI: 8JE

Checklist

» 3SGS booklets — & per boy
« Multiple choice answer sheet
e Candidature — 1000 hoys

Examiner
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SECTION I - Multiple Choice

Answers for this section should be recorded on the separate answer sheet

handed out with this examination paper.

QUESTION ONE

The factors of 322 — 10z — 8 are:
(A) Bz+4)(=—2)
(C} Bz —2)(z +4)

QUESTION TWO
Which of the following graphs best represents y = (z +2) ~ 17

(B) (35— 4)(z +2)
(D) (3z -+ 2)(z —4)

\U/ T

{C) \y D) 'qy

NS x

QUESTION THREE
The derivative of 3z* 4 2% is:
(A) 82°+12®  (B) 3 +a! (C) 12¢° + Bz*
QUESTION FOUR.
The derivative of *% is:

(A} e (B) & (C) 3zed*!
QUESTION FIVE
When 3log p + log(2q) is simplified, the result is:

(A} log(6pg) (B) log(2p%q) () log(3pe™)

(D) 122° 4-2°

(D) 3¢

(D) log(p*e?)

Exam continues next page ...
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